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s ] 1000 | 11:00 | 14:00
sus | BaE [ B2z 2= o=
pEx | |enlges| 2x | 8% lpex| % |pex| % | gs=
% 1, 368 1,342 150 11.18 213 15. 87 315 23. 4]
1 E=S 1,630 1, 606 175 10. 90 254 15. 82 385 23.97
ST E R/ it 2,998 2,948 325 11.02 467 15. 84 700 23.74
% 1,704 1,670 247 14.79 336 20.12 483 28.92
2 k3 2,096 2,073 269 12.98 357 17.22 497 23.97
B E /) it 3, 800 3, 743 516 13.79 693 18. 51 980 26.18
% 1,378 1,362 150 11. 01 208 15.27 297 21.81
3 E=S 1,729 1,710 150 8.71 215 12.57 315 18.42
N BN E_‘i' 3,107 3,072 300 9.77 423 13.77 612 19.92
E] 2,018 1,978 296 14. 96 375 18. 96 529 26. 74
4 E=3 2,249 2,218 280 12.62 380 17.13 509 22.95
b TR/ B 4,267 4,196 576 13.73 755 17.99 1,038 24.74
% 1,106 1,082 160 14.79 220 20. 33 300 21. 13
5 E=3 1,289 1,269 150 11.82 200 15.76 290 22.85
w 4w T 2305 23w 370 [ 1319 | 420 | 77.86 | 590 | 2510
E:] 299 298 59 19. 80 80 26. 85 103 34. 56
6 E=3 329 324 51 15.74 65 20. 06 82 25. 31
B & A& B 628 622 110 17.68 145 23. 31 185 29.74
% 108 108 21 25.00 31 28.70 38 35. 19
7 E=3 121 121 27 22. 31 35 28.93 46 38.02
18I 2 AN §_+ 229 229 54 23.58 66 28.82 84 36. 68
E:) 62 62 16 25. 81 21 33. 87 32 51.61
8 E=3 76 74 18 24.32 19 25. 68 29 39.19
E B2 f#h 4 =t 138 136 34 25.00 40 29. 41 61 44.85
% 443 440 95 21.59 115 26. 14 165 37.50
9 E=3 560 557 110 19.75 150 26.93 190 34. 11
W BN §_+ 1,003 997 205 20. 56 265 26.58 355 35. 61
E] 410 408 70 17.16 80 19.61 160 39. 22
10 T 444 438 80 18. 26 100 22.83 150 34.25
)11 YN Hi 854 846 150 17.73 180 21.28 310 36. 64
% 464 462 150 32.41 180 38. 96 240 51.95
11 E=3 570 564 200 35. 46 220 39. 01 280 49. 65
H vt Hi 1,034 1,026 350 34. 11 400 38.99 520 50. 68
% 119 119 66 55. 46 10 58. 82 14 62. 18
12 T 124 122 74 60. 66 80 65.57 82 67.21
X B + B 243 241 140 58.09 150 62. 24 156 64. 73
% 537 533 88 16. 51 109 20. 45 179 33.58
13 E=3 605 600 86 14. 33 114 19. 00 182 30. 33
H + + Hi 1,142 1,133 174 15. 36 223 19. 68 361 31.86
% 183 182 56 30. /7 64 35. 16 8/ 47.80
14 T 221 218 54 24. 71 62 28. 44 88 40. 37
=R=lE = X B 404 400 110 27.50 126 31.50 175 43.75
% 1,115 1,095 130 11.87 170 15.53 260 23. 714
15 E=3 1,237 1,208 130 10. 76 170 14.07 250 20.70
= ZE E it 2,352 2,303 260 11.29 340 14.76 510 22.15
% 1,152 1,142 160 14.01 210 18. 39 280 24.52
16 T 1, 331 1,318 170 12.90 230 17.45 290 22.00
JIl 2 B /I B 2,483 2,460 330 13. 41 440 17.89 570 23.17
% 1,468 1,435 100 6.97 170 11.85 280 19.51
17 E=3 1,555 1,532 100 6.53 170 11.10 260 16.97
E W B 3,023 2,967 200 6.74 340 11. 46 540 18.20
% 143 141 20 14.18 30 21.28 40 28.31
18 T 199 198 20 10.10 30 15.15 40 20. 20
R EON =t 342 339 40 11.80 60 17.70 80 23.60
% 71 71 10 12.99 15 19. 48 20 25.97
19 E=3 95 94 10 10. 64 15 15. 96 20 21.28
= A E K B 172 171 20 11.70 30 17.54 40 23.39
B 114,154 |13, 936 2,050 14.71 2,697 19.35 3,882 | 27.86
a5t | L6460 16,244 | 2154 | 13.26 | 2.866 | 17.64 | 3.985 | 24.53
5t |30.614 |30 180 | 4,204 | 13.93 | 5.563 | 18.43 | 7.867 | 26.07
o 9:30 10:30 13:00
W2l 89 | B 115207 [ 15,165 | 1.673 | 11.05 | 2.760 | 18.20 | 4.562 | 30.08
s z 18,143 | 18,015 1,686 9.36 3, 069 17.04 5,197 28. 85
it 33,440 | 33,180 3,359 10.12 5,829 17.57 9,759 29. 41
9:30 10:30 13:00
Bir[E % 14,653 | 14, 542 1,211 8. 74 2,121 14.63 3, 553 24 43
H25. 8. 25 E:S 17,273 | 17,149 1,287 7.50 2,238 13. 05 3, 181 22.05
ik it 31,926 | 31, 691 2,558 8.07 4,365 13.77 7,334 23. 14
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